Transfers Report

This report contains the transfers results.

Contest Name	Ward 11 - Bishopton-Bridge of Weir and Langbank
Valid Votes	5,613
Positions to be Filled	3
Quota	1,404

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Natalie DON	Scottish National Party (SNP)		1,783
Elliot Alexander HARRISON	Scottish Liberal Democrats		212
Ellen HÖFER-FRANZ	Scottish Green Party		170
James MACLAREN	Scottish Conservative and Unionist		2,552
Colin MCCULLOCH	Scottish Labour Party		896
		Total	5,613

Candidate Natalie DON Elected with 1,783 votes, being in excess of the quota of 1,404 Candidate James MACLAREN Elected with 2,552 votes, being in excess of the quota of 1,404

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of James MACLAREN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Natalie DON	0	0.00000	0.00000
Transfer to Elliot Alexander HARRISON	724	0.44984	325.68416
Transfer to Ellen HÖFER-FRANZ	135	0.44984	60.72840
Transfer to James MACLAREN	0	0.00000	0.00000
Transfer to Colin MCCULLOCH	704	0.44984	316.68736
Value of non-transferable ballot papers			444.90008
	Total		1,148.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Natalie DON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Natalie DON	0	0.00000	0.00000
Transfer to Elliot Alexander HARRISON	192	0.21256	40.81152
Transfer to Ellen HÖFER-FRANZ	829	0.21256	176.21224
Transfer to James MACLAREN	0	0.00000	0.00000
Transfer to Colin MCCULLOCH	359	0.21256	76.30904
Value of non-transferable ballot papers			85.66720
	Total		379.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Ellen HÖFER-FRANZ

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Natalie DON	0	0.00000	0.00000
Transfer to Elliot Alexander HARRISON	316	0.21256	67.16896
Transfer to Elliot Alexander HARRISON	69	0.44984	31.03896
Transfer to Elliot Alexander HARRISON	57	1.00000	57.00000
Transfer to James MACLAREN	0	0.00000	0.00000
Transfer to Colin MCCULLOCH	207	0.21256	43.99992
Transfer to Colin MCCULLOCH	23	0.44984	10.34632
Transfer to Colin MCCULLOCH	64	1.00000	64.00000
Value of non-transferable ballot papers			133.38648
	Total		406.94064

N.B. The figures may not add due to rounding.